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KRB M LINA SR AR
TR R BRI IUEER 14F 24 34F 447 Gt Fe B =
U TR AR AR ESCEHR 10 4 3 70 70. 0%
R AR SURHR 10 1 2 30 30. 0%
R AR R ER 10 0 3 3.0 30. 0%
s 30 5 0 8 0 0 0 0 0| 13 0 43. 3%
U TR AR R BRI 6 0 1 2 3.0 50. 0%
M SR ECrHR 6 0 0 0 0 0 0. 0%
AR BEER R ER 6 0 1 2 3.0 50. 0%
s 18 0 0 2 0 4 0 0 0 6 0 33. 3%
AR EOZER [ AR B R 16 6 2 8 0 50. 0%
R AR ARIREE I 16 10 8 18 0 112. 5%
G 32 16 0 10 0 0 0 0 0 26 0 81. 3%
ANWAETRERTERE [ EaRfe R ARG PR 9 2 0 1 30 33. 3%
9 2 0 0 0 1 0 0 0 30 33. 3%
SEARF IR [N S Se ey 8 3 2 1 1 70 87. 5%
8 30 2 0 1 0 1 0 70 87. 5%
it 97 26 0 220 6 0 1 0| 5 0 56. 7%
K e ANATNITE AN
D R A ER 14 247 34E 44 5 4% 6 4% At ek
SCFER A AGE B AR 280 66 65 72 87 290 0 103. 6%
R KSR 360 44 53 49 76 222 0 61.7%
EFET I 2= — a3 VR 320 19 16 36 57 128 0 40. 0%
BRI 180 24 23 33 40 120 0 66. 7%
it 1, 140 153 0 157 0 190 0 260 0 0 0 0 0 760 0 66. 7%
AETEBREE EiE~ 3T A v MR 280 48 54 74 68 244 0 87.1%
BREET YA VR 320 58 74 89 92 313 0 97.8%
ARSI R 320 51 90 83 82 306 0 95. 6%
it 920 157 0 218 0 246 0 242 0 0 0 0 0 863 0 93. 8%
=] B 15 0 = B0 R
T a—rVABRT =R a— R 350 57 44 58 74 233 0 66. 6%
AF LT ALT 4 —Ka—2A 350 47 69 103 101 320 0 91. 4%
it 700 104 0 113 0 161 0 175 0 0 0 0 0 553 0 79. 0%
NG = BT &L HEFR 490 70 89 106 121 38 0 78.8%
% e EE R 450 93 109 137 129 468 0 104. 0%
=X 2 =7 4 AR 310 27 24 43 52 146 0 47.1%
it 1,250 190 0 2220 286 0 302 0 0 0 0 0] 1,000 0 80. 0%
HE SR 900 165 2 182 1 140 172 110 153 922 3 102. 4%
it 900 165 2 182 1 140 0 172 0] 110 0] 153 0 922 3 102. 4%
Fari Bl Hilk R 400 117 117 96 103 433 0 108. 3%
it 400 117 0 117 0 9% 0 103 0 0 0 0 0 433 0 108. 3%
ot 5,310 886 211,009 11,119 0 |1,2564 0| 110 0| 153 0| 4,531 3 85. 3%
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SCFRR TR LA AR ESURERIR 10 3 3 6 0 60. 0%
AR AT U 10 2 2 4 0 40. 0%
LA AR AR 10 2 1 3 0 30. 0%
it 30 70 6 0 0 0 0 0 13 0 43. 3%
SCFRR IR LA SR ESURERR 6 1 1 3 5 0 83. 3%
ER R BRI RPN 6 0 0 0 0 0 0. 0%
LA BRI 6 1 0 3 4 0 66. 7%
it 18 2 0 1 0 6 0 0 0 9 0 50. 0%
ARVETEFRZER  |IERRE AR IR R 16 2 0 2 0 12. 5%
MR RTHIERRRE A IE IR 16 8 7 15 0 93. 8%
it 32 10 0 70 0 0 0 0 17 0 53. 1%
AFAETEFIRZER | e A AR 9 0 1 0 1 0 11.1%
it 9 0 0 1 0 0 0 0 0 1 0 11. 1%
HEEIFIERE LR SRR 6 2 2 1 5 0 83. 3%
it 6 2 0 2 0 1 0 0 0 5 0 83. 3%
Gt 95 21 0 17 0 70 0 0| 45 o0 47. 4%
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HEREIK SR 360 53 49 62 118 282 0 78. 3%
SEFED S 2= —v 3 VR 320 17 38 50 73 178 0 55. 6%
AN R 180 23 33 37 51 144 0 80. 0%
il 1,140 160 0 192 0 233 0 322 0 0 0 0 0 907 0 79. 6%
TR BR BT G~ 2D A MR 280 54 71 66 63 254 0 90. 7%
BREET A VR 320 77 90 85 88 340 0 106. 3%
R AE TR 320 91 85 77 84 337 0 105. 3%
it 920 222 0 246 0 228 0 235 0 0 0 0 0 931 0 101. 2%
] B [ B R
T =NV ART = AT A 350 44 53 70 9% 1 263 1 75. 1%
AT AT ALT £ —XA—R 350 69 104 92 88 353 0 100. 9%
it 700 113 0 157 0 162 0 184 1 0 0 0 0 616 1 88. 0%
UNEiLE =0 BT & HEE TR 490 89 104 120 120 433 0 88. 4%
Z ot LB 450 111 137 117 134 499 0 110. 9%
=X o2 =T 4 @R 310 24 43 46 73 186 0 60. 0%
1, 250 224 0 284 0 283 0 327 0 0 0 0 0 1,118 0 89. 4%
L9s 900 190 1 143 182 118 128 161 922 1 102. 4%
900 190 1 143 0 182 0 118 0] 128 0| 161 0 922 1 102. 4%
Bl F iR 300 112 101 104 317 0 105. 7%
300 112 0 101 0 104 0 0 0 0 0 0 0 317 0 105. 7%
ot 5,210 | 1,021 1 ]1,123 01,192 01,18 1| 128 0| 161 0| 4,811 2 92. 3%




